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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese

1. Answer the following: 1x7=7
oo AR B o e
(a) Write IUPAC names of the following
compounds :

oo [l NSRS [UPAC AT
- _OH
' I
i) \I lA/O
CH,
I
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(b) Draw structure of a carbocation.
51 PO 157 o =il 3
(c How can you measure AH ?

oF GO AH T i 553 wgwe e 3 =0

(d) Give unit of internal energy in SI unit.

SI e ERiRe *fes aae f|
(e) Define a ‘non-ideal’ solution.

<5t S v T Q@I forat |

() Designate the foilowing compound as
‘R’ or ‘S’ :

were [l G ‘R’ (7 S’ fole 1 ¢

CHO

p——on
CH,

(g Give mathematical expression of
Phase rule.

eI S0 AT eI foran
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2. Answer any four: . 2x4=8
Rricat bifao7 el i e

(a) Calculate the enthalpy of the following

 reaction: 2

wore fat R Geef R 7 e
CH, = CH, (9)+ H, (9) » CH; — CH3 (9)
The bond energies of C-H, C-C,
C=C and H—H are 99, 83, 147
and 108 kcal respectively.

FF e I F@ C-H, C-C,
C=C ¥ H—H IqAW® 99, 83, 147
¥ 108 kcal.

(b) Write one synthetic application of
Ketene with reaction. 2

e @Bt ARs AR [Riem fan

(c) Give Haworth synthesis of naphthalene.
2

e TR AT B FRACTR AFS
et forl

3 (Sem-2) CHM/G 3 Contd.



(d) Define azeotrope. How is it rated with
pressure and boeiling point of liquid ?

2

GRer'Ed I QA Bl B o oiot oS
TEAIFT NS (FEWE ~A_IST 7T forat |

(e) Write about E-Z nomenclature of
geometric isomerism. - 2

wiffT EeR E-Z AWk T
feran

3. Answer any three of the following questions :
- 5x3=15

wTe AT “Ia Rt fofnr o Tet 31 ¢

(a) Write about phase diagram of water
system.

SR o AR B Rew i 5

(b) Complete the following reactions,
writing the names of products and

“structures : - (Yet¥)xE=5
wore famt RRFIIER T IR Besiwaa AW
i aiow s
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: :
L D +H, ——'—>h52, ?

i) CHIy 2 ?

Ag-Powder

(iv) CH,CH,CH (Br)CH, KOH (alc)

CH,

60% H,50, 4

|
(v) CH;- (i" -CH;, Room temperature

CH,

(c) Define enantiomerism. Write about
characteristics of enantiomers. 5
BB TIPSl P @I F Erus]
ey e R o

5 Contd.
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(d) What is Gibb’s free energy? Derive

Gibb’s Helmholtz equation. 5
TR 18 % B2 M comzsem e
Betstive 3 |

4. Answer any three of the following
questions : : ‘ 10x3=30

Aot RAR o ot Prats

(@) (i) How can you bring about the
following ? 1x5=5

weTe AR @M AR sRare

. CH,CH,I —— CH,CH,

1. CH, Mg Br —— CH,
. CH,C(Br),C(Br),CH,CH,—>CH,C =C - CH,CH,

V. @ _CODN a—> @
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(ii) Designate the following compounds
as per £; and cis-trans system.
‘ 1x2=2

were fal (et vt 54, SIS R Awfe
fofes =1

CH. OH CH,CH H
N, / TN /

(i) Write about bimolecular

substitution reaction. . 3
forofRes efebom Rt Ra fr)

(b) (i) How anthracene can be prepared
by Friedel-Craft Reaction? Write
how anthracene react with

2+2=4
I. Na+C,H,OH and
Il. Na+NH, (lig)?
Give reactions.

Contd.
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Rrroe-wriesy RidFa qiat qqaiva
FEME AES IE 2 GFRIDE FEME
1. Na+C,H.OH W% |

. Na+NH, (539) I =ore Rfema
T o

(i) Derive mathematical expression of

first law of thermodynamics. 5

oS Rere a2 R e e
Lol

(tii) What is plane polarized light ? 1
e &R (oid |

(c) Write about the following: (any five)
' 2x5=10

were MU R ol ¢ (Rt shesion)

(i) Reduction of naphthalene
egrfeme Reme
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(i) Synthesis of 1° alcohol from

Grignard reagent |
FeFres ﬁwm ] 1° G L AT
(iij) Principle of fractional distillation
o e AR
(iv) Ehtropy and Spontaneity
g o K (CHe 0|
(v) Specific rota1':;ion'
Wi g
(vi) Epoxidation ot: .allééne_s.

GHfFa 2ol RresA
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(d) (i) Give general mechanism of
electrophilic aromatic substitution.-

-3

g Rl wrrbe oAfSvime Aud
i foratl

(i) How 1,3-butadiene undergoés
electrophilic addition reaction
with HBr? 2

1,3-1%%%1@?@ HBr3 s9% (IS
gl @em [T oiR ¢

(iii) Write about erythro and threo

isomers. 2
3R O A TR R frat

(iv) Define degree of freedom for a

gaseous system. 2

IR o7 GOR Trow WAR e frdl
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(v) Draw Sawhorse Projection of

eclipsed and staggered ethane.

Yot+Yo=1
AT & ST TR 5= Sl e
wo! faa |
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